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2N sEUKRSH
Ha: HeQle S DS
el sSERSTFIN (SH9 H2)
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
02 QIRHE L&A B X 586,300 304,300 282,000
OZZEE Y RS 845 MH(AF S
&%) 273,900,000 & * 14! 273,900
OZ2ZFE i RS 843 A (TIHE)
284,900,000& * 14! 284,900
Os&J| uxHE &3t XAl
25,000,000 * 14! 25,000
OZ =g 2tes 23
250,0002* 103! 2,500
308 AXISHMSOIA 12,000 12,000
13 BI |2 SOICHEH B A X LE AL 12,000 12,000
O&=s gie|Sei2elAlAg 2HXA
12,000,000 & 14 12,000
402 QIZ2HRt=01H 164,380 158,580 5,800
01 QIR A 2= (KHRITH ) 164,380 158,580 5,800
OZZEC HILo=RA XA
52,0002 *330m* x5 *60% 51,480
OZZEE NAEHIE X2
56,0602 660 m* *25 *60% 44,400
OZZFEE HILoRA HEAIE XIJ
25,0003 *2,700m* *60% 40,500
OZZFECHME oY WSEHIU(1E) XA
35,000, 0002 *1CH*80% 28,000
ZHEEE ANHE RE 435 5,685,035 510,000 5,175,035
= 175,000
i 5,510,035
201 Ler2 | 10,000 510,000 A500,000
03 AL2Z | 10,000 10,000 0
OZZZEC AHIXF ME A
5,000,000 »23| 10,000
401 AIEHIZL 200 5,675,035 0 5,675,035
= 175,000
= 5,500,035
01 Al&Hl 5,675,035 0 5,675,035
ONHZHIEEXNHE &= S&E O|HRA
OHHI(E2) 5,225,035,000& * 14 5,225,035
QRIZHZEXNWE M SEE &5 0
SAFS 450,000,000 * 14! 450,000
= 175,000
= 275,000
StUSAXIZME 298] X 100,000 385,500 285,500
307 212+01 A 100,000 300,000 A200,000
05 QIZtRES 100,000 300,000 A200,000
OstugalXIJdHEH 22|
100,000,000 * 14! 100,000
fotz SEATE OBE 88 2 K& 169,200 178,440 A9,240
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AN SEMRSH
Ha: HeQle S DS
el sSUERSAIN (SH9 H2)
SA - ZE - B2(30) - HRAS of v G o HIDE2
OXOIIAS 0/ME 21 AKX 22
100,000 x4 & 400
OFUE RHHT)| 2= & eI &
clbl 25,0002~ 122 300
202 04| 3,744 3,744
01 =LHOLI 3,744 3,744
Ot nAE el &2 & S28R =X
G1:] 104,0002x32~ 123 3,744
SXaHe 243t 14,000 14,000 0
= 2,400
Ea 11,600
307 el2to| & 14,000 14,000 0
S 2,400
o 11,600
02 QB AHANEEX 14,000 14,000 0
Odletz sSet2 dXtatoieh &bidl X
2,500 +3,2004 8,000
OsSatE e BiiEasH )AL
2,400 *2,50024 6,000
= 2,400
= 3,600
A=A 298 243,210 285,893 A42,683
101 21A4H| 43,210 40,893 2,317
04 JIZtN2Z2 XS+ 43,210 40,893 2,317
OLFAE=2E 2l 2=y 22,622
—JlEs 85,9102 x152 * 162 20,619
— S| 2,000 *15& 162 480
—=4| 4,000 x152 %162 960
—28= 22,059,000 2.55% 563
OLFAIE &3H 22l 22 20,5838
—JlEs 85,9103 200 17,182
— St 2,000 =200 400
—248l 4,000& 200 800
—=28= 18,382,000 *12% 2,206
201 =3 43,900 44,400 A500
03 A2 I 43,900 44,400 A500
OL=ANY 82 & 28 43,900
—IEE & SZHE £X
40,000,000 *14] 40,000
—E84 ¥ 234l 3,900,000 %14 3,900
308 AtXIEMSOIE 6,100 600 5,500
13 S [2SOHe & EAS A 6,100 600 5,500
Octlie ¢ vz 8=
6,100,000 * 14 6,100
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AN SEMRSH
Ha: HeQle S DS
el sSERSTFIN (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 44,000
2 26,000
—2EHgY R (%)
56 +3,900, 000kg 218,400
—3SHEH X (A
35024187, 142kg 65,500
—ZSHEY NA(E0HE)
1602+ 1,500, 000kg 240,000
st 2 XM S5(HEAY) 155,950 101,640 54,310
= 130,998
Ea 24,952
307 gl2to| & 165,950 101,640 54,310
=S 130,998
s 24,952
02 QB HANSEER 185,950 101,640 54,310
Oséts SSHY NAMA SSAL(TE)
311,900,000 * 1IH 2 +50% 185,950
< 130,998
= 24,952
SHE 27 583 NS (HEAY) 38,570 52,000 113,430
= 26,999
Ea 11,571
402 2I2FX=01 & 38,570 52,000 13,430
S 26,999
o 11,571
02 BIENEASEZ(0IETHR) 38,570 52,000 213,430
Oste 27 &85 ANFMS(HE)
77,140,000 * 141 %50% 38,570
[ 26,999
T 11,571
SSHEHI(RRIEH) 28,400 68,800 240,400
= 14,200
[ 4,260
Ea 9,940
307 glztol & 28,400 68,800 A40,400
= 14,200
s 4,260
s 9,940
02 LB AANHEE 28,400 68,800 240,400
Ostts SSEotEl N3
56,800,000 *1JH 2= x50f% 28,400
= 14,200
=S 4,260
s 9,940
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SA - ZE . BR() - HRAR - BES of v G o HIDE2
SE0E 2435 XAAE(2) 176,000 192,000 A16,000
307 elztol & 176,000 192,000 A16,000
02 2B YA E X 176,000 192,000 /16,000
OSEIBRIE 243t XA
220,000, 0002 *17H 2 +80% 176,000
SE0PIE HSESH 28Hl A2AE(2) 470,000 420,000 50,000
307 @I2t0| & 470,000 420,000 50,000
02 QB AANEE R 470,000 420,000 50,000
OSeiiE HSEot 2584 XML 470,000
—3HE= 772,800,000 *50% 386,400
—APC 222D 2EHI(AL, E0IE)
2023 +1,680,000kg 33,600
—&3 =833 250,000, 0002 20% 50,000
SAS0HE XIS (REXIEHH) 32,000 36,000 4,000
== 6.000
[Ea 26,000
307 212+01& 32,000 36,000 24,000
< 6,000
s 26,000
02 2IZHB A E & 32,000 36,000 /4,000
O=¢2 0lE X
15,000, 0002 24 2 *40% 12,000
OsttE Va4l IBIE XA3AY
20,000, 0002 *2IH 2= %50f% 20,000
== 6,000
o 14,000
sttE 20180ty X & 2+ 8,000 28,000 /20,000
201 el 8,000 8,000 0
2 352484l 8,000 8,000 0
OsdtE 2H018otE |2
1,333,300 *69H 2 8,000
GAP OtN e 24 AIZ 25,400 23,270 2,130
= 12,700
= 3,810
= 8,890
207 ARl 8,000 11,270 23,270
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[ 1,200
T 2,800
01 H1ESHI 8,000 11,270 A3,270
OoP £, B4 AFA 24 X
8,000,000& *14] 8,000
= 4,000
[ 1,200
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301 22N = 15,000 8,000 7,000
< 7,500
T 7,500
14 JIEt2d=3 15,000 8,000 7,000
OGP 215 & AHI A&
250,000& 6024 15,000
= 7,500
[Ea 7,500
307 @20l & 16,000 17,280 1,280
s 4,800
s 11,200
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Ea 24,000
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[Ea 119,750
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o 119,750
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O3t AEEHl N3
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< 3,540




od
i’
oF
uJ

R R ur
Ho i Ho

IF RO

=

S S S S FIFIS il e <
© © S S MR
A = = METEN
Ko < < IR
E
D
S] S 8 S NIS|8 SN SEES] S
~ « S S e|C|Q N S |2 S
y - - S N g18|8 el 5|5 R
ol
ikd)
RIS
828 238|888l 888|8|F|1§F 8 8 8 & 8 S|FIFE T8l 88 8|88
gl o gle @ b dlg s Slg oS gloY|Y & 2 & ¥ & glala qlglg &5 g8 g
3
d
S
rH U W H W iy
o « BT W o q M o W<
; i 1.h 4| 3| 28 ¢
> o W X = O a o
o 5 & g = 5_3Z8 8| g% 58 L
”RS ; S 3 23 ES ms o S S
5 5 g 8 § gZEugwgl | & g8 S
a1 = = S S0 mSHSs WS e <~ g 8
’ = =z ° 8 o 4= <= wal s 8 oo
ol i o KeooRE o TF = e
< = = oo K @ 2 o 0
I+ 20 0 W o U o = W Ul
3 5! 5! w oy = u ¥ = il S =
: A Rl K D B B | R S =1 = M Al
= ~ ~ ) S T R T | Tl 0 ok
Kl Ok = B o5 M
o o <k o ul o ot . N N i R 1
= I < ) oo omw o x5 < 0 RN ™ g
ok — _ MR 40 Dif_{— w0 ur T MmO w |23 g |
| E= D o of o M o w22 = H W o A4 W _of |l = Hp B @
. 80 30 g R) 0 g el T IS oF) = =W 3 Y=
= 0y o4 0 iy il Slog|@m & MWooMWoH & U s W |mjm < o |w
Rl ) qo I < 2 o W Nisijor @ a2 & & & W (5|5 I ||~ KT |
RO ol m ’R=< ol ~ R wlot|= & R R OR O ORE B |Z|H M |=|m R o
: = o O = <+ O Al=]l= O O O O O O |al=0 |o|lo © OO |
% & S 3 = 5|8 (% SIE ke <
I+ =d S




AN SEMRSH
Ha: HeQle S DS
el sSiERsSAINd (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
[Ea 20,000
402 2IZtA=01d 70,000 70,000 0
=S 50,000
s 20,000
02 RIINEASEZ(0IETHR) 70,000 70,000 0
OBXHMY ESXIAAIS (HE)
100,000, 0002 *17H 2 %70% 70,000
< 50,000
s 20,000
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307 @20l & 32,000 0 32,000
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s 12,000
02 QB AANEER 32,000 0 32,000
OBRtArY EoF XA AIS (B EH)
40,000,000 *1IH 2= *80f% 32,000
< 20,000
= 12,000
402 2IF X201 & 128,000 0 128,000
= 80,000
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OBt Cof XA (R EH)
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sASHRH & 22,100 0 22,100
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= 1,000
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= 1,000
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= 13,392
s 26,784
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= 13,392
= 26,784
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= 1,705
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o 1,175
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== 505
o 1,175
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o 2,800
307 @120l & 4,000 0 4,000
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o 2,800
02 LB AANHEE 4,000 0 4,000
OtldsdtEs =2 THde et
5,000,000 * 17 2*80% 4,000
= 1,200
= 2,800
d=et WESA A 695,513 904,632 A209,119
< 246,647
[Ea 448,866
wsHAE XES WS 695,513 904,632 A209,119
= 246,647
s 448,866
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14 0Bt 243 3,539 4,500 2961
008 PR JIHoETIR
101.11&%35,000L 3,539
== 1,062
[Ea 2,477
A DI X 2,280 6,000 A3,720
= 684
= 1,59%
402 QIF X201 & 2,280 6.000 A3,720
= 684
Ea 1,59
02 QIZRHEAI 2 (01F TH) 2,280 6,000 A3,720
OLAR IR K&
950,000 #40H 2= +60% 2,280
== 684
o 1,59
=HE RS AE Ul X 14,700 24,500 29,800
= 4,410
= 10,290
402 2IF X201 & 14,700 24,500 29,800
= 4,410
Ea 10,290
02 RIEN2AIEEZ (01 M THR) 14,700 24,500 29,800
O==dtE RS AME I X
7,000,000 *3CH*70% 14,700
s 4,410
s 10,290
FAAE JISEHl X2 A 90,000 0 90,000
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= 13,500
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sEAZNE E SHASSUH 7,319,539 7,134,725 184,814
= 1,094,610
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= 55,763
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